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Name: __________________________________



1
A system of equations is shown below.

Equation A:  [image: image1.png]Sx+ 9y





Equation B:  [image: image2.png]



Which method eliminates one of the variables?

	1)
	Multiply equation A by [image: image3.png]


 and add the result to equation B.
	3)
	Multiply equation A by 2 and equation B by [image: image4.png]


 and add the results together.

	2)
	Multiply equation B by 3 and add the result to equation A.
	4)
	Multiply equation B by 5 and equation A by 4 and add the results together.



2
Using the substitution method, Vito is solving the following system of equations algebraically:

[image: image5.png]



Which equivalent equation could Vito use?

	1)
	[image: image6.png]2=3x-4)+3x=-21




	3)
	[image: image7.png]2x-3(-3x-4)=-21





	2)
	[image: image8.png]203x-4)+ 3x





	4)
	[image: image9.png]2x=3(3x-4)








3
Which system of equations will yield the same solution as the system below? 

[image: image10.png]



	1)
	[image: image11.png]



	3)
	[image: image12.png]Ix-ly=1£






	2)
	[image: image13.png]~ix+ 2y =13





	4)
	[image: image14.png]B+ 3y=9








4
Which system of linear equations has the same solution as the one shown below? 

[image: image15.png]x—dy=-10
X+y=5




	1)
	[image: image16.png]5x=10

X+y




	3)
	[image: image17.png]~3x = -30

X+y





	2)
	[image: image18.png]~5y=-5

X+y




	4)
	[image: image19.png]x—dy =10







5
Which system of equations has the same solution as the system below?

[image: image20.png]i+ 2y=16

-y




	1)
	[image: image21.png]i+ 2y=16





	3)
	[image: image22.png]x+y=16
-y =4





	2)
	[image: image23.png]i+ 2y=16





	4)
	[image: image24.png]






6
Which system of equations has the same solutions as the system below?

[image: image25.png]Ix-y=7

2+ 3y




	1)
	[image: image26.png]fix—2y=14
61+ 9y = 36




	3)
	[image: image27.png]—0x—3y=-21
e+ Iy=12





	2)
	[image: image28.png]



	4)
	[image: image29.png]






7
Which system has the same solution as the system below?

[image: image30.png]x+3y=10
2x-2y=4




	1)
	[image: image31.png]x+y=£

21+ by




	3)
	[image: image32.png]x+y=£

21+ by





	2)
	[image: image33.png]—x+y=14

21+ by




	4)
	[image: image34.png]x+y=14

21+ by







8
A system of equations is given below.

[image: image35.png]x+ly=5
x4y =4




Which system of equations does not have the same solution?

	1)
	[image: image36.png]3x+ fiy =15
ey =4




	3)
	[image: image37.png]x+ly=5

61+ 3y





	2)
	[image: image38.png]Ax+ By = 20
ey =4




	4)
	[image: image39.png]x+ly=5

A%+ 2y







9
Which pair of equations could not be used to solve the following equations for x and y?

[image: image40.png]dx+ly=122
2%+ 2y = -3




	1)
	[image: image41.png]Ax+ 2y =22





	3)
	[image: image42.png]12x + iy = £i6
6x— iy = 24





	2)
	[image: image43.png]Ax+ly=122
4z + 4y =16




	4)
	[image: image44.png]Bx+dy =44
8%+ 8y = -3







10
Which system of equations does not have the same solution as the system below?

[image: image45.png]4x+dy=10
61— Sy =—16




	1)
	[image: image46.png]



	3)
	[image: image47.png]24x+ 18y = 60
4% - 20y = —64





	2)
	[image: image48.png]20x+ 15y = 50
_18x— 15y = —48




	4)
	[image: image49.png]40z + 3lly = 100
36% + 30y = —96








11
What is the solution to the system of equations below?

[image: image50.png]



	1)
	no solution
	3)
	[image: image51.png]




	2)
	infinite solutions
	4)
	[image: image52.png]






12
The line represented by the equation [image: image53.png]


 shares a solution point with the line represented by the table below.

	x
	y

	[image: image54.png]



	3.2

	[image: image55.png]



	3.8

	2
	4.6

	4
	5

	11
	6.4


The solution for this system is

	1)
	[image: image56.png](-14.0,-1.4)




	3)
	[image: image57.png](1.9.4.6)





	2)
	[image: image58.png]



	4)
	[image: image59.png](6.0,5.4)







13
Albert says that the two systems of equations shown below have the same solutions.

	First System
	Second System

	[image: image60.png]Bx+ Oy =48
125+ 5y =21




	[image: image61.png]





Determine and state whether you agree with Albert.  Justify your answer.

14
In attempting to solve the system of equations [image: image62.png]


 and [image: image63.png]


, John graphed the two equations on his graphing calculator.  Because he saw only one line, John wrote that the answer to the system is the empty set.  Is he correct?  Explain your answer.

15
Guy and Jim work at a furniture store.  Guy is paid $185 per week plus 3% of his total sales in dollars, x, which can be represented by [image: image64.png]g(x) = 185+ 0.03x



.  Jim is paid $275 per week plus 2.5% of his total sales in dollars, x, which can be represented by [image: image65.png]flx) =275+ 0.025x%



.  Determine the value of x, in dollars, that will make their weekly pay the same.
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2
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2
ANS:
3

[image: image66.png]



[image: image67.png]2x-3(-3x-4)=-21
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ANS:
3

[image: image68.png]Hx-y=13)
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ANS:
1

[image: image69.png]x—dy=-10
x4y=5

~5y=-15
y=3



  [image: image70.png]


  (1) [image: image71.png]


  [image: image72.png]
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ANS:
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[image: image73.png]2(3x-y=4)
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ANS:
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[image: image74.png]
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ANS:
2

[image: image75.png]2x+ fy = 20
~2x-2y=4



  [image: image76.png]x+3(6) = 10
3




  [image: image77.png]~lr+ 2y =128
2+ 6y =20

=43




  [image: image78.png]
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ANS:
4

[image: image79.png]36x+ 30y
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ANS:
1

[image: image80.png]H-lx+ 2x48) =12
412
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ANS:
4

[image: image81.png]


  [image: image82.png]4(0.2x+4.2) + 2x = 33.6
085+ 168+ 2x= 336
28x= 163

x=6



  [image: image83.png]0.2(6)+42=54




  [image: image84.png][ f2()- o5 2 £1(x)=0.2 x+4.2
- 2
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ANS:


[image: image85.png]Z4x+ 2y = 144
24x+ 10y =42
17y = 102
y=6
8x+9(6) = 48

x=

x




  [image: image86.png]8.5y =-51
y=6
B+ 9(6) = 48

8x=—6



  Agree, as both systems have the same solution.
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ANS:


No.  There are infinite solutions.
REF:
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ANS:


[image: image87.png]185+ 0.03x = 275+ 0.025x
0.005x= 90
x= 13000
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